Unit One ~ Linear Systems — Re-Test

Name: _ S0 noONnS

' Learning Goais:

|« Solve a linear system hy the method of substituiion.

s Solve a linear system by the method of elimination.
¢ Staie how many solutions & linear system has by either inspection or solving the system.
= Give examples of a linear system with one, none, or infinitely many soiutions.

Criteria | Level
Assessment of . 5 3 4
Cgm miun i ca'ﬁ O i Rarely Sometimes Frequently Always

Mathematical symbols, labels, units
and conventions are used correctly

Written solutions and conclusions
expiain and justify ideas with clarity

Caiculations are neatly presented in an
organized manner

/33 X 90% 10 X10%




1. Solve .

by drawing the graph. [4 marks]

Algebraicatly check that the point of intersection you found in
4 marks]

guestion 1 is the solution to the system.
LS| RS Ls | rs
T 1

Solve by the method of substitution. [5 marks]
x=2y+10

T (a0 2y- 1
e +20 20 < 1+
3rer g =2

Urg = -

5 (g



Solve by the method of elimination. [5 marks]

3‘x-—,y = -]
x+2y=16

You solve a linear system of equations and get the following solution. What does this tell you about the
system of equations for which you are trying fo find a solution? |2 marks]

A2x-ty—dr=—g  ~ SOMe line

4y —8—4x=-8 - T‘HOH"\ {Q m(}ﬂ%
Ox=-8+8 Solut
0=0

Mrs. Hamilton was in charge of ticket sales for the school musical, Beauty and The Beast. On
Thursday night, she sold 55 adult tickets and 42 student tickets for a total of $1080 in sales. On Friday
night, she soid 70 adult tickets and 51 student tickets for a total of $1350 in sales. How much did
each ticket type {adult and student) cost? -

a} Define your variables and create a system of equations that models this situation. {4 marks]

S8a s U2g = 1650 G= Goult cost
T0a +His= 13 70 5= STudent coxl



by Solve the system of equations by the method of your choice. [4 marks]

c} Check both eguations to ensure the sclution is correct. [4 marks]

d) Make a concluding statement about the cost of the tickets. [1 mark]



Unit Two — Analytic Geometry — Re-Test

gi’:/u ”?ﬁ?b#"%_b’“

Mame:

: P
- Learning Goals:

s Soive a linear system by the method of substitution.

@ Solve a linear system by the method of elimination.

s State how many solutions a linear system has by either inspection or solving the system.
# Give examples of a linear system with one, none, or infinitely many solutions.

Criteria Level
Assessment of ) 5 s | 4
C@m FTTLERY E ca‘ti O Rareiy Somatimes Frequently Always

Mathematical symbois, labels, units
and conventions are used correctly

Written solutions and conclusions
explain and justify ideas with clarity

90%

25




1. Given the points A(-2,-6) and B (-8, 12), determine the following:

a) the length of segment AB correct to 2 decimai places. [3 marks]

/f u’ﬁ (-3+2)" « [/Q 8"
V)R8 = Ek <

b) the slope of AB. [2 marks]

Mg * Y2-4 1§ 7
X’Z“X; ’@

c) the slope perpendicular to AB. [1 mark]

/
]

d) the midpoint of AB. [2 marks]

Mo |28 mb:12> - [-5,3)
e = |

»’

- e) the equation of the perpendicular bisector to AB. [3 marks]

Y= rh
7 = 1 ‘5)"’“1
3 3( 2
5--5

5 +h
3



2. A triangle is formed by the points A (5,-4), B (2,2) and C (8,8).

a) Find the length of all three sides. [3 marks]

AR . ~ ] - N
A8 = Jiz-50* . (2o = J 9 -3¢ = Uyg
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b} Find the slope of all three sides. [3 marks]

f’”,/;g . fﬁz«‘ﬁf - 22 L e = =2
e 25 =

M. e :
se - i A R 2
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EEV e Sy o]
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¢) Classify the triangle. [1 mark]
gc&[éﬁf&’? & »—*f" I sYola) hfﬂ’if,:'; }} a'::

3. A circle has a centre at {0,0) and a radius of 7.

a) What is the equation of this circle? [2 marks]

o

r\/; Z {,aﬂl = le ""'}

b} State the coordinates of any 2 points on the circle. [2 marks]

¢} Poes the point (-3,6) lie on, outside, or inside the circle? Clearly show vour
steps that show how you obtained your answer. [3 marks]

e

(/\< 2 “f'f’j Z .. .r;YL C7 [ -

/;3}2'*(/53)]’ =45 Lo L on clrcle
L s :Lﬁb&\' e _>

9 +36 .45 i —
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Unit 3 — Trigonometry — Re-Test

; Learning Goals:

+ Determine ¥ two triangles are similar and explain your reasoning.

« Given that two triangles are similar, find the missing sides or angles.

+ State the primary irig ratios for a given right angle triangle.

« Use the primary trig ratios to solve fora missing side or angle in a right triangle.

Use sine iaw and cosine law to solve for missing sides or angles in a non-right angle triangte.
s Use alt of the above mentioned skifls to sclve appitcation problems.

Criteria Level

Assessment of I
T 2 3 \ 4

Communication

Raraly Sometimes Frequently Always

Hothematical symbols, labels, units and }
conventions are used correctly 1

Written <olutions and conclusions
explain and justify idecs with clarity

MMHM\I fr’_l
caleulations are neatly presented inan 1 k 1

argonized manner




1. ls AABC similar to APQR? Show yeur mathematicai reasoning. |3 marks]

) A
Bem 5cm
36 &m 30cm
B
Bem

48 cm

. Given that AABC is similar to APQR, find x and y. [4 marks]

i2¢

For each of the iriangles below, solve for the unknown. Round alf fengths to one decimal place and
round all angies to the nearest degree. [6 marics}

aj b)

$o




Fro_m the top of a lighthouse 36.0 m above sea level, the angle of depression of a small boat is 27° How
far is the boat from the base of the lighthouse? [4 marks)

Gloria, Chris and Tyier are standing at the corners of a triangular plot of fand. Chris is 54.0 m from
Tylar. Using, a transit, he sights both Gloria and Tylerand finds the angle between the two sight fines o

be 50°. Gaby-does the same and finds the angle between her sight lines to Chris and Tyler is 34°.
How far is Gloria from Tyler? {4 marks]

Whitney and Sophal are 425.5 m apart. Dayzmara flies ovarhead in a plane between thern. At the .
' of elevation of the plane. Whitney measures the angle of elevation

same time, they measure the angle
ic he 68° and Scphal measures it to be 40°. What is the ALTITUDE of the plane? [6 marks]




Unit 4 Re-Test - Quadratics in Standard Form
Name: ~§0/Le7i7 bﬁj”

[ Learning Goals:

Identify a guadratic relationship based on its graph, table of values, and its equation.

From a quadratic equation in standard form, find the axis of symmetry, the vertex, the zeros
and the y-intercept of the associated parabola.

Accurately graph a paraboia given an eqguation in standard form,

Soive application problems given equations in standard form.

-]

@

Criteria Level
Assessment of e . S EE e
: : 1 2 3 4
Communication i
Rarely Soméﬁmes Freguently I Always
i

Tathematical symbois, lubels, units and

conventions are used correctly \7
e

Written solutions and conclusions
exploin and justify ideas with clarity

R A IS W e
Caleulations are neatly presenied inan
erganized manner l
] R __NW_H_ ]

Graphs are labeled with axes and scales - — l
| |
]

and are neat.

T
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1. Far each of the relaticnships described below by either a table of vaiues, graph, or equation,
indicate whether the relationship is linear or quadratic and give a reason for your answer,

[6 marks]
- Relationship: N Linear or Quadratic _ “Reasoning. . |
XY |
1 3 N . , 5 ‘
2 | 8 4 é)?, Qu adrahe | da?ﬁem‘neeg
Z j; <>:?_>2 are net Hae

Samne - A aje

. U= 4
y=-=2x+5 - INea ‘”‘)5 ot
Quadratic PGB0,

2. Fill in the chart below to show your understanding of quadratics in standard form. {12 marks]

Directioni of [~ Axisof -
Opening - | . Symmetry

' Equatson .

ya=25" —8x+9 dOwﬂ :“’:‘; -+ sz’ ii“?) (C/C/m 2—

op ==-2 (- [ (oo) | 2

yex o dx

| |

3. Use the quadratic formula to find the x-intercepts or zeros of y=2x"+4x 16 [4 marks]

)

K= -b f\,\bi}'m%&;‘,
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4, Graph the equation y = —x? = 2x+ 4making sure to show the veriex, zeros, and y-intercept.

{4 marks]
SPACE FOR YOUR WORK:

-0 22 -l axs
Sa <3 ==

g bR V@f&éx
NN . | (c,4) yint

5. A firework is launched from a platform and is supposed to explode above the fake nearby. its
motion is modelied by the equation /(7) =—4.9¢" + 55t + 3 where h is the height of the

firework in metars and fis the time of the flight.

a. What is the height of the plaiform from which the firework is launched? [1 mark]

2

b. If the firework doesn't explode and just continues along its path, how long is the firework
in the air before it lands in the lake? [4 marks]

JESE
'}(: —‘bi\jbl"%qc‘
e e

c. If the firework was designed to explode when the firework is 5s into the flight. At what
height above the ground does this occur? {2 marks] :

h(£) = -4.9]5) +55(5) 3
= (555,



MPM2D — RE-Test — Quadratics in Factored Form

< / P
Name: DO o s

Learning Goals:

—

Given a quadraiic expression in standard form, use common factoring, factoring by grouping,
MAN facioring, decomposition, and difference of squares to create an expression in factored
form. '

Given an equation in factored form, find the zeros, vy intercept, and vertex of the associated
parabola.

Graph an equation given in factored form.

Find the solutions of a quadratic equation by factoring.

Probiem solve using equations in factored form.

Criteria Level
Assessment of
Communication : 2 3 4
Rargiy Sometimes Freguentiy Always

Mathematical symbols, iabels, units and
conventions are used correctly

Written solutions and conclusions

explain and justify ideas with clarity

Catculations are reatly presented in an

organized manner

Graphs are labeled with axes and scales
and are neat,

X 10%

| X 90%
/a7




Part A: Factoring and Solving {17 marks)

1. Facior COMPLETELY:

a) 3x* —9xy [2 marks] D) 3xy-12x+4ay—16a [3 marks]
Bx(x-3y A S IR
y) 3 (4] +ta(y -4
( gﬁ%)( %+ 4 )
¢y x° —12x+20 [2 marks] d} x’-24x+144 [2 marks]
(-10)(x-2) ™ 20 e M
ek A -z ezl
N-1g,-2 N -2 -1z
a) 4x® +20x+25 [4 marks]
o™ + (0o # o 15 ™M ?ff’
. R oA S
A28y BN (6 1o
3. Find the zeros of the following quadratic equations by factoring.

a) 2x* —10x+12=0 [4 marks]

S&( X =Bre) ’fg o
2= x=2) B2

tercS 3 and 7



Part B Graphing from Factored Form {4 marks)

For the two equations below, graph the parabola making sure to show the zeros, y-intercept,
and veriex. :

a) y=-2x-3x+1

find

.

Part C: Problem Sclving with Factored Form {6 marks)

A pro golfer, hits a golf ball and its height above the ground can be approximated by using the
equation A=-

3t* + 6t where h is the height in metres and t is the time in seconds.
a) How long is the ball in the air? (Find the zeros using factoring!!) {4 marks]

= -3t bt

~3L(E-9)

i

e os O and 1o
x"m;{‘”‘n,&.
©

b} What is the maximum height and when does it occur? [2 marks]

Max \/\@;Shlt oo “}i‘;"

|
=

h=-301)" b))

= ‘w?) ’rgac:
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